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Problem Definition
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Service Goal
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Optional Service Charges

7t MH|A 0|18 25

* VAT L SALICH

T EEIO|HY B E1

oA 1T/

ALO| E M=}

A AF H|

o |

702t CH27| =2 HIEfH

A EIEY/AI

O
[ — |

2

L

| 4. 1080*180(6:1) HiLH

Zn

TEA

YA E Z2|0[0f, OfH H|7tA, 3D CIXIRl, SNSOMAHE 5

20|0|X|, HEH|O|X| 1page 7|&

UHY, EO|20, ©}0|EEE O{L|H[0]49H 1= L2




%o

Point1| k= EMAE

e o= HM 200 Z2|E[22 o 0kt

Point 2 | X&st 7}

u
|

r

oY mn oo

1=

Service Features

227 Ajsict

M 228 4+]28,368
S22 Y WA HEX 4| 392
| M7 2|5 =™ EX2|4 (112,204
Point 3 | AZM
XLt 20kof| 2A0| Qe AL XL EE2HE getelo
=
MM O Z CHIt

[z
B
2
I
m
U
Y
10
il

& MS/MH|A 27]=1~2E3 S¢t d0S IS0
A0 2dsS 4

I@\ 252 A X|5}| FELICH Ol AR AH| X0 T2
X

Sl MEO|LE MH[AS S2E M 0 RETLICE A

ot Z0|=E
2H[XH=0[ M=/ 8|

s =HELICH

fot



With

[} {
XA 1S1= 2] K] Responsibility L
1 I = 185 2% and Dedication S

rf

% MIFAF302 0%

One Area, One Industry

"THEES 93t £|Mo| W Sorete
&7150| 2 7AIHQl B HagLict
0P, AHIXRES, AIBZEAL /0=

MZ2 Eco| 03l 20HS oY ¢ 7stn

Oiz= MIOJLE S 2B S| S 7EK 3 ASLICE




= AR | MH|AH

2=
22

-
10

or
ol

<d

=7| g L.

i
ol
okl
of
r
™N
ol
=
N0
OF
Mo
=

(=13
&=

f

dAsA2=1

==

=P,

CHAFS K1

=
- -

ot 2 A2[E|




_H_

Ol
YN

2 137§ X|FHO|

S e
-1 —

e M=

AlEH HYYE

2

L|CF.

7|8

2l

22|47} 8000

o=

A5 LICk

J

-
(o]

of HCtE 710 &




AR [ BiEE

2=
s2M

A7t L= E[HA
L|Ct.

74 AH
(R

11 719l =0

al
=

O[0] &=

{1
o

o3

e
N

A

A1E =2FF2 0[0{EZ2 MBC OlsZ230

b

Halc OIX|E 7t 22}

7
)
{1
o3
r



0I3 No.1

CHst

aln.

ofll




7=, th8HXet et 5
22ISA82 220 24,
IT SotollAf £|1 422| 7|53

20| 7laxte m2 0| M
o= 20| gofatz/TV Aol Ko
8t AFRL Pofets 712

il
HHF OfZ2[A|0|M 7HE0f| E i ot

Google
SAMSUNG




ofo| M=

()
)
M_u
03
U
%0
ol
M|
<]
k=)
3
]
o
il
vy
i)
if g
1}
<
Ol
3

NEA7t =04ot= @+ 7|8 IS M2 7|8dE e




ol

#HEZH ME

L 22X 100~1000 0|

ol
=

MEE 4 LER?

I
K1

Kl

A2l 7 &0 Heto] Jte?

Q

LI,

E|X

==

A OlA
AN H

Skely
==

gLICE =22l 2
= CHZ 7N

L
QS ASHA|

| 7H&0l 7ts

H
O

| m

o



A EE|oILIR?

el
OO—I
-

A
o

71MEE OEAH 1=2L1R?

Q

LI,

<)
=i
LI,

F

?

=L Hi0}Of SILER

o
L.

MH[AS AtESIEH Z2THS C}

Q

Xt H7t fSLIC.
2 T2 83 QX[SAL | JHE XY A7t |l LT

Flo EEol 2
OfA| MH[AS Af

(=3
=
H

MEIA AFR
DAL 7t



AMEAF 710| 2=[0] U E ALEES = ALIR?

Q

10| 2| 7101 ARl 7HI0] [0 RUX| BE0FE

=)
=

ES

E

= ZH

O
O —

AFEAE 7HR10] |0 QUX| G0t ArE ™ o= US LY.
=Xt Al i

_
2t

|22 E0tL Z22|LiR?

™

dE NS, &

AH|A 7 A,

Q

O[Lfiof| 2t= & LICE,

)
1

2108 3 AR5

8A[ZH(2E
TS



CONTACT

(F)ADESAS
03909 A SA| Ot ES 0 S4H2 37 DMCAFSHAEAMIE 10052
 070-8239-1492

& admin@smartdongs.com






